EARAZROREIERT — 2 N—XBISY —F 20145FE8H29H (£) 9M%HA4H

m# y XIS—=J8% A2 5% (w8 | mEmml - |5 ) oom 8
[AxE4£]1%&:370,000 ™ ~ 2#&:74,000”  33#%&:37,000MW  4%&:0MH / 5&:0M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S g~ s B[IE:e 141, -8-3- . — HIEER (1)
1 FARATE FNNET B8 50 1(‘&)4 §832 973 N ‘zg; o a
RiFYTNI— BIN-TLER NP IN
— ae s e . S BERE A 142, -1-1- . — HITAZ (5544)
ol7|7|7TxT7—44X R e e ? ?f;) T
R:xALZG 7 —R BTFATLTT Y HET7—L
R o4 | EHEE 1:42.2 6-5-7-6 | 37.9| — 3 480 | FEERBR— (1)
30111 <ILAY R 55.5 (1 1/2) (-3) FAREE (%)
L:FLNnwyTFIvE B:F1RE2 M-I =]l
- P _ 64 _ HEER (SH)
4 6| NvE-Xb=1— 5 kil 1(.14/22.)3 5-6-4-3 | 38.5 1 ?(1);1 it 2
R:d—IWKk7Uz—I)b B:LAHY-ILTLZX AW 72
— AN EEH 142, -3-5- . - HIZ (55H8)
5lglg|Fr7THEA> o9 =S (12412/28) 3-3-5-5 | 38.9 6 :112) i A
RYHRG 4 TFTR BN IAFRT KE T
;= # o7 | WTHZ 1:42.9 4-4-6-7 |38.8| — 5 525 | JIIUBBAE (S242)
6|55/ ¥7=71% £55.0 (1/2) (-10) |, @#) 77— bEVa>
L:¥r/07a4 BIYAFILAUX HET77—L
N . 1ERERA : ~7-8- - HEZE (5#3)
7 o | T—RHIEK o7 e (11413/21> 7-7-8-8 | 38.8 7 ;1_761) i A
R:xA1=ZG7—R B:LTF1T7zT7)— eilikse]
= 5o o KR 5 : -0 - HOEZ (%14)
s 4| 75E7>=T Y G LS R Py |EEEE
R:Z&—YrFA—X B:RA—hEHIL DD AR
® I —F—@EBIERL
13=zr= 7,4,8,5,6,1,2,3
Aol=5r= 7,4,8,5,1,6,2,3
G§a=7r= 7,4,3,6,8,5,1,2
43—+ — 7,3,6,4,8,1,5,2
[ RN
B OB 3 740M 714K 3-7 270M B E 3-7 910M &R 1-3-7 750M
% B 8 160 1-3 20[™| | B & 3-7 1,720/ | | 3=E 3-7-1 4,740M
7 130M4 1-7 210
1 140M

ABICOVWTRDTEEERROODE. TR LIV,



